proc = bb
(polm,polp)=(-0.8, 0.3)
anzle dsig range = 0.8 , 00

Deltay=0 o

— zpm = 117.251

Dydat error sm = 117,774
deltay = -0.00443466

Eff 2bin = 0.1496 anzle bb dvdat = 0.00833924

(polm,polp)=(-0.8, 0.3)

Nbga—Zbin - 27075 angle dsiz range = 0, 0.9
w/ Charge ID zem = 540.258 1bin (w/o Charge ID)

sm = 543,869
deltay = -0.0066392%
angle bb dvdat = 0.00304619
- - - - -T-----------z-—=-—z-—z-—Z-—z-—z-—zZzZZZzZzZzZzZcz-=:- (DO|I’I‘|,D0|D):(U.8, _[:]3:]
Cem =h00 [Gey] anzle dsig range = 0.8 , 00
S5 MOR) = B.91159 [TeY] M(Z) = 10,4789 [TeV] zem = 02.8649
sm = 53.6R54
deltay = -0.0147316
angle bb dvdat = 0.0155568

Com =h00 [Gev]
BLR: M(R) = 2.9472 [TeV] M(2) = 4.43143 [TeY]

=500 [GeY]
(polm,polp)=(0.8, -0.3) D MES) = 2.73017 [Tev] M(2) = 4.39679 [Te¥] T

angle dsiz range = 0, 0.9

____________________________________________ zom = 137.967

-------------------------------------------- sm = 138.548

Com =000 [Gey] deltay = -0.00419198 =h00 [GeY]

chic MCB) = 447683 [TeV] M(2) = 6.70692 [Tey] angle bb dvdat = 0.00740033 o MEBY = 4. 41651 [TeV] M(2) = 7.14888 [TeY] T

(polm,polp)=(-0.8, 0.3)
Tbin dsig range = -0.9, 0.9
zem = gg?ggg n =500 [Gey]
deHiE; AT : M(5) = 2.83703 [Te¥] M(2) = 4 57791 [Te¥] T
Thin bb dwdat = 0.00133875

(polm,polp)=(0.8, -0.3) =h00 [GeY]
Tbin dsig range = -0.9 , 0.9 : M(5) = 2.35852 [TeV] M(2) = 3.77947 [TeV] 1
zpm = 190,832
=m = 192.203
deltay = -0.00713422
bin bb dvdat = 0.00272077

em =h00 [GeY]
s MCB) = 2.98332 [TeV] M(2) = 4.49344 [TeV]

Com =h00 [GeY]
“ta: M(5) = 2.42314 [TeV] M(2) = 3.82918 [TeV] (Q)

1~4: can charge |D

. ’ Ecm =500 [GeY]
5’6' cant Charge ID SSM: M(B) = 6.91159 [TeV] M(2) = 6.97159 [TeV]




proc = Cc

— (polm,polp)=(-0.8, 0.3)
Deltay 00 angle dsiz range = -0.9 , 0
Dydat=error zom = 235,11
sn = 235.175
_ deltay = -0.000277164
Eff 2bin = 0.0233 angle bb dydat = 0.014073
Nbga_ 2bin = 6456 (polm,polp)=(-0.8, 0.3) .
a angle dzig range = 0, 0.9 1bin (W/O Charge |D)
zom = 817.571
w/ Charge ID sn = 824.705
deltay = -0.00365024
angle bb dydat = 0.0062734 proc = cc

(polmpolp)=(0.8, -0.3) =H00 [Gey]

angle dsig range = -0.9 , 0 s MR = 525193 [TeV] M(2) = 8.53532 [TeV]
zem = 105.07
Sm = 104'3?8 - _ - - - ZT”TT’’’’’’’’’’’’_rTZZZZZZZZ_Z—Z:zZz-:-
deltay = 0.00663593 i
=500 [GeV] angle bb dvdat = 0.0261413 =500 [GeV]

M) = 4.62859 [TeV] M(2) = 7.5196 [TeY]

: M) = 4.44976 [TeV] M(2) =

(polm,polp)=(0.8, -0.3)

angle dSig range = [:I \ U.g - - - - - - - - - - --------------—-—-—Z-—z-—zZzZzZzZZZzcz-t¢
=h00 [GeY] zem = 454,782 =500 [GeV]
i MO5) = 2.40387 [TeW] M(2) = =m = 456.984 it M(5) = 2.5606 [TeV] M(2) = 4.12598 [TeV]
deltaw = -0.004871995
angle bb dydat = 0008998?8 ZIZIZIZ-ZC--I-IZIZZ-I-IZIZZIZZ-ZC-I-ZIZIZZ-ZZ-ZIZIZZZZ-ZZZZZz-Zz-ZzZzZzZz-:c-:
500 [GeV] » =H00 [GeY]
s M5 = 2.26587 [Tev] M(2) = %:E?rlwm’ﬁg!zking'eg’: 903% 0.9 it M(5) = 2.37576 [TeV] M(2) = 3.80475 [TeV]
zem = 10RZBE A ..
SNSRI | e
=500 [GeY] deltay = -0.00879235 =500 [GeY]
C M5 = 2.45308 [Te¥] M(2) = 2.66304 [TeV] bin cc dvdat = 0.00123867 : M) = 2.55115 [TeV] M(2) = 4.09178 [TeY]
(polm,polp)=(0.8, -0.3)
@ lbin dsig range = -0.9 , 0.9
zpm = Bh9.8hZ
zm = BGT1.362
deltaw = -0.00263983

1~4: can charge ID |l

. can’ Ecn =500 [GeV]
5,6: can’t charge |D  EHCRER e Ean R RTE Y




Mass limit
With Charge ID

Next, | will calculate models other than SSM.

Use bin 2 polarization pattern ->(-0.8,+0.3), (+0.8,-0.3)
SSMforbb |@+® 2+®+® Without Charge ID | Wothout Charge ID
2 pol pattern (-0.8,+0.3) only
Ssigma(TeV) 6.8 7.1 6.8 6.7
| 2sigma(TeV) 11.1 11.2 11.1 11.5
SSMforcc |@+® 2+®+® Without Charge ID | Wothout Charge ID
2 pol pattern (-0.8,+0.3)only
Ssigma(TeV) 5.2 5.1 5.3 5.4
2sigma(TeV) 9.0 8.0 8.5 9.3
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